STAT 106

EXERCISE 11

1. In a study of smoking habits of students of a certain school, 400 students of the school were selected at random and were interviewed. It was found that 60 of the students were smokers. If the proportion of smokers in  the school is 
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, find: 

(a) a point estimate of 
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, 

(b) a 90% confidence interval for 
[image: image3.wmf]P

,  


(c) a 99% confidence interval for 
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, 

2. In a study on the incidence of breast cancer in a certain city, 
800 women from the city were selected at random. It was found that 60 of these women have breast cancer. If the proportion of women who have breast cancer in the city is 
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, find: 

(a) a point estimate of 
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, 

(b) a 95% confidence interval for
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. 
3. In a sample of 900 cancer patients who took a certain cancer drug, 850 were cured. If the proportion of cancer patients who are cured by the drug is 
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 , find: 

(a) a point estimate of 
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, 

(b) a 99% confidence interval for 
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(c) a 90% confidence interval for 
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